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6 JWMHT T5 | AT Jou ST fS9 12 et 3= 3t fas STedt <t 3 u=att 7
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feg duat & e @aue 54 fest & == =6t 36 vilat ©f wggz 71 €7
S3ue § 81 fest &9 y=8= wet fdahit welst =1 agez u<alt 7

few ¢ & 6 wieur 1 12 20 fie &9 soeh o5 | @7 o5 § 67 ygg &bt 5
ufeyt fd=t €9 fE9 sasatt 7

feg Fmarat 60 fanit AdeT & 9% &% g e 3 2 wfew ffe@eest 31989
80 fat /e o 9% &8 g8t 7 3T 80 fas a9 vifas '2 udaet ¢

feg a9 32 fanit dre ©F a8=m9 &7 fea A= & 10 difent e yor gt 71 a
ot gz €5 fdsr sor izr e S A Reg g Wifenf fiSfg yar o as ¢

2 feweat um f&T 2 uifent S5 fiT E At fee 9o o5 | Bost &9 fég fenmst
ghrg 7 faprm 3t g o fdat g9 <9 yor d<ar?

fEa i o5 &9 10 fen@ztt & Wat wid garmt &7 yiT 2 ufent feg yar
atar| 4 Wifent fee feg o Uar 95 et fda fenmaht F wges y=ar !

ey Eaedt & ffa @sue & 63 fost &9 5@ wd) 42 wils' & 5ge= 7167
G=ue § 54 fost f9 sobe =0t fdatn’ 09 vils™ ©F 9gog u=att ?

e grew f=9 200 fefovaghy B2t 59 v Fea 10 fos v 7| 899 97es 9
50 fefonradt g9 wr 7= 2t 995 @ Ao fas fos 9%ar 7

fea fwaTet © 39 & 24 o (R 3= ‘2, Tea 99 & 4 fHerehd frsemit o5 |7
dfanit €t fare=at 8 Wie 7= 3t odg 99 & faaht fismehut fiszaitt 7

e 1=t i f& 1,00,000 € fean ot § 92 fugma €9 soag =fanr 7l
31 75t {3t Arast yar a8 wiF uzT @9 fa Fa 72 fust § s ==t ot A
fugatut ©F farest avw g |7 €% s nigurg fEg T

aF fugrahy &t fare3t ] 2 4 5 8 10
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(1) wxFySse s nigus 9 3= oF 7o' fafimt (S5 faograga Aot 32
X
() xy =k (b) =k ©x+y=k (dx-v=k
(i) AxmMIyEEe s nauz fRads 3t e B U=z dg
x | 30 |24
y |12 | a
(a) 18 {b) 20 {c) 15 (dy 16
(iii) 10wt i d4 & 20 foat fEe yor goe 05 |1 87 g1 & 25 nrer fas fest
e yar ggsar 7
(a) 4 (b) 16 (c) 12 (d) 8
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ug d9 »r 7§1E 3t yreT fas few ¥@ar ¢
(a) 3 (b) 8 (c) 4 (d) 10
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14.

3 839uen

mife 11.1
(i), (ii) 2. (i) 22 (i) 104 (iii) 14 3.a=5b=32 c=13,d=60, e=20
408 g=mt 5 0.5cm 6. 240km 7. 2250 vug
22.5m 9, 750 wHtet 10. 189 grdbsf
.20, 45, 60 12. 110, 220, T550  13. (1) 25km (i) 3 wer 20 ffe
(i) T270 (ii) 22 15. () b (i) d (i) c(iv) b
mfgH 11.2

(1), (iii), (v) 2. (i) 18 (i) 9 (i) 10 3. 5 0'& 4. 558 5 24 witst
lufZg 48 iz 7. LW 30 iz 8. fartnder 9. 4uiE 10. 5 femEat
49 WHtaT 12. § few 13. 6 fraetmt

25,000; 20,000, 12,500; 10,000

(i) a (i) ¢ (iii) d (iv) ¢

232




